PART I

For each of the words in Capital letters, choose from among the answers, the word that is closest in meaning:

1. CELIBACY

(A) informality  (B)promiscuity  (C)gluttony   (D)garrulity  (E)anticipate

2. FLEDGLING

(A) experienced  (B)shy  (C)cautious   (D)pedestrian  (E)fleeting

3. INSIPIDNESS

(A) wisdom  (B)cowardice  (C)lividity   (D)savoriness  (E)tentativeness

4. SEQUESTER

(A) precede in sequence  (B) permit to mingle (C) alter in composition  (D) free from doubt  (E) attempt to better

5. EQUANIMITY

(A) clamour  (B)disparity  (C)agitation   (D)propensity  (E)indivisibility

6. ANATHEMATIZE

(A) appraise  (B)reciprocate  (C)patronize   (D)insinuate  (E)bless

7. MORIBUND

(A) mortal  (B)vital  (C)transient   (D)precarious  (E)tangential

8. DISTILL

(A) provoke  (B)subordinate  (C)adulterate   (D)conjure  (E)deflate

9. SMARTga
(A) soothe  (B)tickle  (C)support   (D)shorten  (E)question

10. LUCID

(A) Ornate (B) arrogant (C) embroiled   (D)hapless  (E)obscure
For each of the words in Capital letters, choose from among the answers, the closest word that has the opposite meaning:

(11)  MITE

(A) informality  (B) promiscuity  (C) gluttony   (D) garrulity  (E) bulk
(12)  FIDELITY


(A) committed  (B) shy  (C) cautious   (D) pedestrian  (E) fleeting

(13)  SUPERNAL

(A) wisdom  (B) infernal  (C) lividity   (D) savoriness  (E) tentativeness

(14)  REPROBATE

(A) precede in sequence  (B) permit to mingle (C) can be elevated  (D) free from doubt  (E) attempt to better

(15)  SPECIOUS

(A) genuine  (B) disparity  (C) agitation   (D) propensity  (E) indivisibility

(16)  
EFFETE

(A) appraise  (B) reciprocate  (C) proper   (D) insinuate  (E) bless

(17)  RABBLE

(A) Mortal (B) vital (C) transient   (D) union (E) tangential

(18)  PROTEAN

(A) provoke  (B) subordinate  (C) adulterate   (D) conjure  (E) unchanging
(19)  PARVENU

(A) knot  (B) tickle  (C) resolve   (D) wallflower  (E) question

(20)  VERTIGINOUS

(A) Constant (B) arrogant (C) embroiled   (D) hapless (E) obscure
Read the following text.  The passage contains some blank spaces.  Choose the sentence from the list A – I, that best fits in each of the blank spaces.  The numbers in brackets refer to Question numbers.

Observe the dilemma of the fungus; it is a plant, but it is a plant, but is possesses no chlorophyll. While all other plants put the sun’s energy to work for them combining the nutrients of ground and air into the body structure the chlorophyll ___21_____ . It finds it in those other plants which, having received their energy free from the sun, relinquish it ____22____.

In this search for energy, the fungus has become the earth’s major source of rot and decay. Wherever you see mold forming on a piece of bread, or a pile of leaves turning to compost, or a bloom down tree becoming pulp on the ground, ----23-----. With the fungus action the earth would be poled high with ____24_____. 

In fact, certain plants which contain resigns that are ___25____ specimen of the redwood, for the instance, can still be found ___26____ 

A. You are watching a fungus eating

B.  Resting on the forest  floor centuries after having been brown down,

C. Responsible for the decomposition of much plant life

D. Fungus must look else where form an energy supply

E. Cannot produce their own store of energy.

F. The dead plant life of past centuries

G. At some point in their cycle either to animal or to fungi

H. Fungus is vastly different from other plants.

I. Toxic to fungi will last indefinitely.

The beginning of what was to become the United States was characterized by inconsistencies in the values and behavior of its population, inconsistencies that were reflected by its spokesman, who took conflicting stance sin many areas; but on the subject of race, the conflicts were particularly vivid. The idea that the Caucasian race and European civilization were superior was well entrenched in the culture of the colonists at the very time that the “egalitarian” republic was founded. Voluminous historical evidence indicates that, in the mind of the average colonists, the African was a heathen, he was black, and he was different in crucial philosophical ways. As time progressed, he was also increasingly captive, adding to the conception of deviance. The African, therefore, could be justifiably (and even philanthropically) treated as property according to the reasoning of slave traders and slaveholders.


Although slaves were treated as objects, bountiful evidence suggests that they did not view themselves similarly. There are many published autobiographies of slaves; African-American scholars are beginning to know enough about West African culture to appreciate the existential climate in which the early captives were raised and which therefore could not be totally destroyed by the enslavement experience. This was a climate that defined individuality in collective terms.  Individuals were members of a tribe within which,  they had prescribed roles determined by the history of their family within the tribe. Individuals were inherently a part of the natural elements on which they depended, and they were actively related to those tribal members who once lived and to those not yet born.

The colonial plantation system which was established and into which Africans were trust did virtually eliminate tribal affiliations. Individuals were separated from kin; interrelationships among kin kept together were often transient because of slaves. A new identification with those slaves working and living together in a given place could satisfy what was undoubtedly a natural tendency to be a member of a group. New family units became the most important attachments of individual slaves. Thus, as the system of slavery was gradually institutionalized, West African affiliation tendencies adapted to it. 

This exceedingly complex dual influence is still reflected in black community life, and the double consciousness of black Americans is the major characteristics of African- American mentality. Dubois articulated this divided consciousness as follows:

The history of the American Negro is the history of this strife-this longing to attain self-conscious manhood, to merge his double self into a better and truer self. In this morning, he wishes neither of the older selves to be best. 

Several black political movements have looked upon this duality as destructively confliction and have variously urged its reconciliation. Thus, the integrationists and the black nationalists, to be crudely general, have both been concerned with resolving the conflict, but in opposite directions.

(27)
Which if the following would be the most appropriate title for the passage?

A. The History of Black People in the United States

B. West African Tribal Relations

C. The origin of Modern African-American Consciousness

D. Slavery: A Democratic Anomaly

E. The Legacy of Slavery: A Modern Nation Divided.

(28)
The author states which of the following about the Africans who were brought to America?

I. In Africa they had acquired a sense of intertribal unity in which all were regarded as belonging to the same group.

II. They did not regard themselves as objects of someone else’s ownership.

III. They formed new groups to replace the tribal associations that had been destroyed. 

A.I only

B.II only

C.III only

D.I and II only

E.II and III only

(29)
Which of the following can be inferred about the viewpoint expressed in the second paragraph of the passage?

A. It is a reinterpretation of slave life based on new research done by African-American scholars

B. It is based entirely on recently published descriptions of slave life written by slaves themselves

C. It is biased and overly sympathetic to the views of white, colonial slaveholders.

D. It is highly speculative and supported by little actual historical evidence.

E. It is supported by descriptions of slave life written by early Americans who actually owned slaves

(30)
The author puts the word egalitarian on quotation marks to:

A. emphasize his admiration for the early Americans

B. ridicule the idea of democracy

C. remind the reader of the principles of the new nation

D. underscore the fact that equality did not extend to everyone

E. express his surprise that slavery could have existed in America 

(31)
 The tone of the passage could best be described as

A. informed and anecdotal 

B. critical and argumentative

C. impassioned and angry

D. analytical and objective

E. caustic and humorous

(32)
 It can be inferred that which of the following parts are the two elements of the     “ dual influence” mentioned?

A. slavery and West African culture

B. tribal affiliations in West Africa and family affiliations in West Africa

C. a sense of individuality and a sense of tribal identification

D. the history  of West Africa and modern black political movements

E. integrationism and black nationalism.

PART II

Q1. 
Fill in the missing number in the sequence  

58 
27   
12  
?? 
 2    
1

(a) 7    (b)   8 (c) 5   (d) 9   (e) 11

Q2.
In the following series, how many U’s are there such that each U is followed by an L next to it if the L is not followed by a D next to it. 

U    L    U    D    Q    M    U    L    D    M    L    U    L    L    U    Q    M    U    

U    L    Q    U    L    D    L    U    A     M   L    U    L    M

(a)2
(b)3
(c)5
(d)4
(e)8

Q3.
If DFOUSBM is coded as CENTRAL how will RVJDL be coded?

(a) SHEET
(b) TRIAL
(c) COVER
(d) QUICK
(e) CIGAR


Q4.
Suppose the first and second letters in the word CONSEQUENCES were interchanged, also the third and fourth letters, the fifth and sixth etc.  Print the letter that would then be the tenth letter counting from the right.

(a) C

 (b) E

   (c) N

   (d) O

   (e) S 

Q5.
In which number system would 1362 represent the decimal number 362?

(a) Base - 7    (b) Base - 8    (c) Base - 6    (d) Base - 5   (e) Base – 9

Q6.
What is the largest prime number that can be stored in an 6-bit word computer?

(a) 73                     (b) 69            (c) 61            (d) 57           (e) 65

Q7.
If n = 15 x 28 x 26, which of the following is NOT an integer?


a.
n / 15

b.
n / 32

c.
n / 21


d.
n / 35

e.
n / 39

Q8.
Which of the following is a power of 2?


a.
2148

b.
2096

c.
2198


d.
2444

e.
2048  

Pick the odd one out

Q9.
(a)
ORACLE

(b)
SYBASE

(c)
INGRESS


(d)
DB2


(e)        SMTP 

Q10.
(a)
UNIX


(b)
WINDOWS NT
(c)
C++


(d)
MVS


(e)        LINUX

Q11.
The three numbers in brackets represent the length of the sides of a triangle. Which of these does not represent a proper triangle?

(a)
(5m, 3m, 4m) 
(b)
(4m, 5m, 4m)
(c) 
(4m, 6m, 8m) 

(d) 
(1m, 3m, 2m)
(e) 
(12m, 6m, 8m)

Q12.
The three numbers in brackets in each of the following options represents the number of edges, the number of vertices and the number of faces respectively. Find out which of these represents a solid planar cube?

(a)  (4,8,6)
(b)  (8,6,12) 
(c)  (12,8,6)  (d)  (6,6,6)   (e)  (12,6,8)

Q13.
Which set of data exhibits a higher Standard Deviation?


(a)
3, 0, -3, 3, 0, -3
(b) 
3, 3, 3, 0, 3, 3   (c)
-3, -3, -3, -3, -3, -3

(d)
3, 3, 3, 3, 3, 3

(e)
3, -3, 3, -3, 3, -3 


The three circles below represent the number of people eating Rice, Wheat and Corn.  Answer the next three questions based on the diagram
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Q14.
How many more (or less) people eat Wheat than people who eat Rice?


(a)2
(b)3
(c)4
(d) 1
(e)5

Q15.
What percentage of people eating Corn also eat Rice but not Wheat.


(a)21
(b)12
(c)14
(d) 17.4
(e)15.6

Q16.
What percentage of total people eat all three items?


(a) 6
(b) 7
(c) 8
(d) 9
(e) 3


The figure on the left represents number of members in a Club and the figure on the right depicts profession wise distribution for 1998
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Members (in "00s)
Q17.
Which year has registered the maximum percentage growth in members?

(a) 1998
(b) 1994
(c) 1996
(d) 1686
(e) 1888

Q18.
What are the average members for 1995-1999?

(a) 7700
(b) 8800
(c) 6800
(d) 4800
(e) 7800

Q19.
If 10% of members in 1998 left the Club, how many fresh members were made in 1999?


(a) 4500
(b) 4600
(c) 4400
(d) 4900
(e) 5400

Q20.
A hypothetical physical quantity is defined as


(Energy X Time X Time) / (Mass X Distance)


In what fundamental units would this quantity be expressed?


(a) Distance
(b) Power
(c) Velocity
(d) Time
(e) None

Q21.
A, B and C together can finish a piece of work in 4 days; A alone can do it in 12 days and B alone can do it in 18 days. How many days will be taken by C to do it alone?

(a) 8
(b) 9
(c) 12
(d) 16
(e) 18

Q22.
Which of these matrices is singular
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(a) A
(b) B
(c) C
(d) D
(e) None

Q23.
Match the following relationships:


(i)
Animal
 – Lion

            (1)
Not a type of


(ii)
Mushroom – Vegetable
(2)
Part of


(iii)
Panda – Bear


(3) 
A type of


(iv)
Oxygen – Water

(4)
Superset of


(a) i-3,ii-1,iii-4,iv-2
(b) i-4,ii-1,iii-3,iv-2
(c)i-4,ii-1,iii-2,iv-3


(d) i-3,ii-2,iii-1,iv-4
(e) i-1,ii-4,iii-3,iv-2

Q24.
If @ stands for squaring and + stands for square root what is the value of 

@ @ + (16)  -  + + @ (25)?

(a) 124
(b) 245
(c) 251
(d) 252
(e) 253

Q25.
A sequence is defined recursively as



g(0) = -1;
g(1) = 1



g(n) = g(n-1) + g(n-2)


What will be the value of g(6)?


(a)2
(b)
4(c)3
(d)6
(e)7

Q26.
What curve best suits the following data:

	X
	Y

	0.99
	0.00001

	10.04
	1.02

	99.98
	1.997

	1000
	3.0

	9990
	4.004



(a) y = logn x
(b) y = log10 x  (c) y = ex   (d) y = -log10 x  (e) y = - ex
Q27.
A Two-dimensional array X (9,7) is stored linearly row-wise in a computer's memory. Each element requires 8 bytes for storage of the value. If the first byte address of X (1,1) is 3000, what would be the last byte address of X (8,5)?

(a) 1234
(b) 1324
(c) 3351
(d) 3421
(e) 2431

Q28.
Of the four straight lines A, B, C, D find out which pair forms an orthogonal set

 
A: 3x+4y-7 = 0, B: x+y = 0, C: 3y-4x+5  = 0, D: y = 7x+3


(a) AC
(b) AD
(c) BC
(d) BD
(e)AB


Q29.
Evaluate the expression 

M (843,5) + R (3.4) + T (7.7) - R (5.8) where

M stands for Modulo arithmetic, R stands for Round-off operation and T stands for Truncation Operation

(a)5
(b)6
(c) 7
(d)8
(e)9

Q30.
Three independent mechanisms A, B and C have been incorporated for power saving in a plant producing respectively 30%, 20% and 10% efficiency. Assuming that they operate independently, what is the net power efficiency achieved?

(a) 49.6%
(b) 54%
(c) 48.8%
(d) 56%
(e) 64%

Q31.
The hourly declination of moon for a given day is as follows:



Hour


Declination



3


7o 53’ 6.1”



4


7o 39’ 28.7”


Find the declination of the moon at hour 2.

(a) 8o 6’ 43.5” (b) 7o 56’ 54.5”  (c) 9o 46’ 33.5” (d) 7o16’ 12.5” (e) 8o 39’ 28.7”

Q32.
What equation best describes the curve shown below:

[image: image4.bmp]
(a)y = tan x
(b) y + 3 = x
(c) y = ex  (d) y = Cos x  (e) y + x = 0 

Q33.
The temperature at Kochi is given by the function: -t2/6+4t+12 where t is the elapsed time since noon. What is the percentage rise (or fall) in temperature between 6.00 PM and 9.00 PM?


(a) 24%
(b) 12%
(c) 15% 
(d) 18%
(e) 22%

Q34.
An aircraft takes off from A (72o N Lat, 40o E Long) at 2.00 AM local time to B (32o N Lat, 50o W Long). If the flying time is 9 hours what is the local time of landing at B?


(a) 5.40 AM
(b) 4.00 AM
(c) 5.00 AM
(d) 7.00AM
(e) 8.00AM

Q35.
Fill in the last row of the following Truth Table:

	A
	0
	0
	0
	0
	1
	1
	1
	1

	B
	0
	0
	1
	1
	0
	0
	1
	1

	C
	0
	1
	0
	1
	0
	1
	0
	1

	(A (B ) ( C
	
	
	
	
	
	
	
	


Interpret the resulting bit pattern as an integer in an 8-bit computer and write the decimal value.



(a) 123
(b) 134
(c) 145
(d) 127
(e) 133

Q36.
A file is transferred from one location to another in 'buckets'. The size of the bucket is 10 kilobytes. The bucket gets filled at the rate of 0.0001 kilobytes per millisecond. The transmission time from sender to receiver is 10 milliseconds per bucket. After the receipt of the bucket the receiver sends an acknowledgement that reaches sender in 100 milliseconds. Assuming no error during transmission, write a formula to calculate the time taken in seconds to successfully complete the transfer of a file of size N kilobytes.


(a) 10.11 N
(b) 10.011 N
(c) 11.01 N
(d) 11.011 N
(e) 10.101 N

Q37.
The productivity of a group of workers is given by the function 

P(N) = 4000 √N, where N is the total strength. Find the percentage change in productivity if the strength of the group is increased by 1%.


(a) 0.75%  (b) 0.25%
(c) 1%
(d) 0.5%  
(e) 2%

Q38.
A power cable is to be run from a power plant on the bank of a river 900 meters wide to a factory that is located 3000 meters downstream on the opposite bank. If the cost of laying cable under water is Rs. 5 per meter and that of laying overhead on land is Rs. 4 per meter, find the point downstream where the cable is to cut across the river.


(a) 450 
(b) 3900
(c) 1800
(d) 2100
(e) 2700

END OF  PART II

PART III

Read the following passages and answer questions under each passage

(1) Annaswamy Naryanasharma is a cloth merchant in a nearby district of Chennai and is the father of two children, Buradikrishnan and Durashankar , who are of different sexes. 

Chunnalaxmi is Buradikrishnan’s spouse

Ericaswami is the same sex as Durashankar

Buradikrishnan and Chunnalaxmi have two children: Falirukmani, who is married to Laxmiamma, is the sister of Durashankar’s mother, Mutthuswami.

Ericaswami and Ericaswami’s spouse, Indrarani , have two children, Jayawardane and Kurriappa who are the same sex as Indrarani

No person has married more than once, and no children have been born out of wedlock. The only restrictions on marriage are that marriage to a sibling, to a direct descendant, to a person of the same sex, or to more than one person at the same time is forbidden.

(1) Falirukmani is :

(A) Gunnachandran’s brother

(B) Gunnachandran’s sister

(C) Buradikrishnan’s daughter

(D) Durashankar’s niece or nephew

(E) The same sex as Hariraman

(2) According to the rules, Durashankar can marry

(A) Falirukmani only

(B) Gunnachandran only

(C) Jayawardane only

(D) Jayawardane or Kurriappa only

(E) Falirukmani, Jayawardane or Kurriappa

(3) If Laxmiamma and Hariraman are divorced, Hariraman could marry

I. Durashankar only

II. Falirukmani only

III. Durashankar or Gunnachandran

(A) I only

(B) II only

(C) III only

(D) I or II, but not both

(E) II or III, but not both

(4) If the generations of Falirukmani and Kurriappa’s parents and their siblings contains more females than males, which of the following must be true?

(A) There are more females in Falirukmani and Kurriappa’s generations

(B) Jayawardane is a male

(C) Annaswamy is the same sex as Durashankar

(D) Kurriappa and Gunnachandran are the same sex

(E) Durashankar is Hariraman’s nephew

(2) At an International Convention on the possible dangers of the individual chemical Dulconomaxia, three pro-industry spokespersons are to be seated to the left of the moderator and three critics of Dulconomaxia, to the right of the moderator. The speakers are Drs. Ahmed Ali, Burdakova, Din Chow Wong, Errata Mobutu and Fenders berg.

ii The person delivering the paper “Epidemiological Aspects of Dulconomaxia” is seated immediately between Dr. Ahmed Ali and Dr. Din Chow Wung.

iii The persons delivering “Public Health and Dulconomaxia,” and “Radiological Aspects of Dulconomaxia,” are close friends and insist on sitting together.

iiii Fendersberg is placed two seats to the left of the moderator.

iiv As heavy smoking is repugnant to the moderator, she insists that the person delivering “Dulconomaxia: Benign or Malignant”, a heavy smoker, be seated at one end of the table.

iv Curriappa, delivering “The Impact of Dulconomaxia, on the Environment”, is seated to the left of Fendersberg

ivi Ahmed Ali, a critic of Dulconomaxia,, is seated to the left of Erriat Mobutu.

1. The person seated immediately to the left of the moderator is 

(A) Ahmed Ali

(B) Burdakova

(C) Curriappa

(D) Din Chow Wung

(E) Erriat Mobutu

2. Given the seating rules as stated, which of the numbered statements are logically sufficient to establish the position of Dr. Erriat Mobutu and the title of the paper she delivers?

(A) 1, 3

(B) 1, 6

(C) 1, 3, 6

(D) 1, 4, 5, 6

(E) 1, 3, 4, 5

3. The symposium is expanded to include a seventh speaker. If she is seated exactly midway between Curriappa and the moderator, he will sit:

(A) to the left of the author of “Radiological Aspects of Dulconomaxia”

(B) one seat to the right of the moderator

(C) two seats to the right of Din Chow Wung

(D) three seats to the left of Ahmed Ali

(E) four seats to the left of the author of  “Dulconomaxia: Benign or Malignant”

4. Which of the following cannot be determined on the basis of the information given?

I. The author of “Public Health and Dulconomaxia”

II. The title of the paper delivered by Din Chow Wung

III. The identity of the two friends who insist on being together

(A) I only

(B) II only

(C) III only

(D) I and II only

(E) II and III only
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